## M10-4.3-Add/Sub/Multiply Exponents Laws Notes



## Remember:

-Never multiply the base by the exponent -Must have same base to use laws.

Multiplying with the Same Base, Add Exponents.
$x^{3} \times x^{2}=(x \times x \times x) \times(x \times x)=x^{5}$
$x^{3} \times x^{2}=x^{3+2}=x^{5} \quad$ Add Exponents


Dividing with the Same Base, Subtract Exponents.
$\frac{x^{5}}{x^{2}}=\frac{x \times x \times x \times x \times x}{x \times x}=x^{3}$

$$
\frac{x^{5}}{x^{2}}=x^{5-2}=x^{3} \quad \text { Subtract Exponents }
$$

$$
\begin{aligned}
& \text { Check Answer } \\
& \frac{3^{5}}{3^{2}}=27=3^{3} \quad \begin{array}{l}
\text { Arbitrary } \\
\text { Numbers }
\end{array}
\end{aligned}
$$

Exponents to Exponents, Multiply Exponents
$\left(x^{2}\right)^{3}=(x \times x)^{3}=(x \times x) \times(x \times x) \times(x \times x)=x^{6}$
$\left(x^{2}\right)^{3}=x^{2 \times 3}=2^{6} \quad$ Multiply Exponents
Check Answer $\left(5^{2}\right)^{3}=15625=5^{6}$
Arbitrary Numbers

Product/Quotients to Exponents, Multiply Exponents

$\left(x^{1} \times y^{1}\right)^{2}=x^{2} y^{2} \quad$| $(2 x)^{3}=(2 x) \times(2 x) \times(2 x)=8 x^{3}$ |
| :--- |
| $(2 x)^{3}=2^{3} x^{3}=8 x^{3}$ |


$\left(\frac{2^{1} x^{1}}{y^{3}}\right)^{2}=\frac{2^{2} x^{2}}{y^{2 \times 3}}=\frac{4 x^{2}}{y^{6}}$| Multiply Exponents |
| :--- |
| $(3+4)^{2} \neq 3^{2}+4^{2}=25$ |
| $(3+4)^{2}=(3+4)(3+4)=7 \times 7=7^{2}=49$ |

$$
\begin{array}{lll}
\left(\frac{6 m n^{3}}{4 m^{2} n}\right)^{3} & R\left(\frac{6 m n^{3}}{4 m^{2} n}\right)^{3} & \\
\left(\frac{3 n^{2}}{2 m}\right)^{3} & \text { Simplify } & \frac{6^{3} m^{3} n^{9}}{4^{3} m^{6} n^{3}}
\end{array} \quad \begin{aligned}
& \text { Multiply } \\
& \frac{3^{3} n^{6}}{2^{3} m^{3}} \\
& \frac{216 n^{6}}{64 m^{3}}
\end{aligned} \quad \text { 1st } 1
$$

